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Cuts in time: On the new GST system
The GST rate cuts will boost consumption at a time when exports face challenges

The sweeping changes to the Goods and Services Tax (GST) regime, authorised by the GST Council on
Wednesday (September 3, 2025), have come as a shot in the arm for the mood of the people, and,
potentially, for the economy overall. Few things spur optimism and demand as effectively as tax cuts.
The Centre did well to push the GST Council towards these reforms, which rose to the occasion and
cleared them quickly. Criticism that these reforms have come too late is neither here nor there. The
GST Council is a federal body, and any of the States could have suggested these rate cuts earlier but
did not. The appropriateness of the Prime Minister’'s announcement of the reforms in his
Independence Day speech, coming as it did before either the relevant Group of Ministers or the GST
Council met, can be questioned. But here, too, the fact that the Council announced its decisions on
the first day of what was supposed to be a two-day meeting shows that the States were on board.
The minutes of the 56th meeting will reveal each member’s stated position. The rate changes span
nearly every sector, and are, overwhelmingly, in the downward direction. Very few items, such as
high-end motorcycles and higher priced apparel, are set to become more expensive. Tempting as it
was to pack the 40% bracket with more items, the GST Council did well to keep it narrow. Overall,
these rate cuts, coupled with the income-tax rate cuts announced in Budget 2025, should serve as a
much-needed boost to consumption at a time when other engines of growth such as exports and
private investment are sputtering.

The government has maintained that the revenue implication of these GST rate cuts would be around
48,000 crore a year, based on 2023-24 consumption data. Given the scope of the cuts, this seems
like an underestimation. However, only time will tell what the actual number will be. It is to be noted
that the GST Council decided to do away with the compensation cess, despite Opposition-governed
States calling for one to protect their revenues. Such a cess would have diluted the rate
rationalisation and simplification efforts and is best eschewed. Instead, the States are now going to
have to look to their own revenue sources, as well as the 16th Finance Commission, to offset the
losses they face. The new GST 2.0 still has some anomalies, and is still more complicated than it needs
to be, but the removal of duty inversions and the easing of paperwork are a huge improvement. The
government should now revive the National Anti-Profiteering Authority, at least temporarily, to

ensure that the rate cuts are passed on once they kick in on September 22. |[Practice Exercise]\

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
e Cess (noun) — an additional tax imposed by the government on top of regular income tax.

3Uh{
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10.

11.

Vocabulary
12.

Sweeping (adjective) — extensive, wide-
ranging, far-reaching, broad,

comprehensive cdI9ch

Regime (noun) — system, framework,

order, arrangement, setup STIEIT

A shot in the arm (phrase) — boost,
stimulus, morale-lift, pick-me-up, fillip

icaTge

Spur (verb) — stimulate, boost, propel,
galvanise, incentivise  IRSIEGETGI

Optimism (noun) — confidence,
hopefulness, positivity, bullishness,

upbeatness TRIdIG

Rise to the occasion (phrase) — step up,
deliver, meet the moment, measure up,

come through IRTEATAAT 9T WIT IAAT

Criticism (noun) — censure, reproach, fault-

finding, critique, flak 3T

Appropriateness (noun) — suitability,
propriety, fit, aptness, correctness

3Uddr

S
Question (verb) — challenge, dispute,

doubt, query, contest HdTel 30T

(be) supposed (to) (adjective) — expected,
intended, scheduled, meant, due ufeaa

Be on board (phrase) — agree, support, be
aligned, be in, sign on T Gl

13.

14.

15.

16.

17.

18.

19.

20.

21

22

23.

Minute (noun) — a summarized record of
the proceedings at a meeting.

Stated (adjective) — declared, specified,

expressed, recorded, announced BILGI

Span (verb) — cover, extend across, stretch

over, encompass, bridge 3-1TEI<:H?=F»TFIT

Overwhelmingly (adverb) —
predominantly, largely, chiefly, by a wide

margin, massively q7dd:

Apparel (noun) — clothing, garments,
attire, wear, clothes TR

Tempt (verb) — entice, lure, provoke,
seduce, bait F:DTSTIHT

Narrow (adjective) — limited, tight,
restricted, slim, small Fehrot

Sputter (verb) — falter, stall, fizzle, splutter,
stutter oIsWsSIT

Implication (noun) — consequence, effect,

fallout, upshot, ramification IHTT

. Given (preposition) — considering, in view

of, taking into account, assuming, granted

afrau?r'g’tf

. Scope (noun) —range, breadth, extent,

span, ambit QI

Underestimation (noun) — undervaluation,
understatement, miscalculation,

lowballing, downplaying shH-3TeheleT
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24.

25.

26.

27.

28.

29.

30.

Do away with (phrase) —abolish, scrap,

eliminate, dispense with, repeal HHTCd
T

Compensation cess (noun) — a Cess that
will be collected on the supply of select
goods and or services or both till 1st July
2022. The Cess will compensate the states
for any revenue loss on account of

implementation of GST. «‘Hﬁﬂﬁw

Call for (phrasal verb) — demand, require,

request, seek, necessitate HIT AT

Dilute (verb) — weaken, water down,
lessen, thin, attenuate FHA HAT

Rate rationalisation (noun) — It means
reviewing, revising, and simplifying GST
rates for different taxable items

Simplification (noun) — streamlining,
easing, pruning, clarification, reduction

FLATHIOT

Eschew (verb) — avoid, shun, forgo, abstain

from, steer clear of cITITAT

31.

32.

33.

34.

35.

36.

37.

Offset (verb) — counterbalance, neutralise,

compensate, balance, make up for Hﬂﬁﬁ
hIAT

Anomaly (noun) —irregularity, aberration,

outlier, inconsistency, deviation ICAL:GI

Duty inversion (noun) — When the tax rate
on inputs used to produce goods or
services is greater than the tax rate on the

finished output 3eeT Yoeh BT

Easing (noun) — Reduction, lessening,

slackening, moderation &Y

Revive (verb) — reinstate, restore,
reactivate, rejuvenate, bring back

SCEIERETC]

Pass on (phrasal verb) — transmit, convey,
hand over, transfer, forward qgﬂ'lﬂT

Kick in (phrasal verb) — begin, start, take

effect, come into force, activate AT H

3TeAT
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10.

11

12.

13.

14.

15.

Summary of the Editorial
The GST Council approved sweeping GST rate cuts on September 3, 2025, boosting
public sentiment and economic optimism.
Tax cuts are seen as one of the strongest tools to spur consumption and demand.
The Centre played a key role in pushing the GST Council towards these reforms.
Criticism that reforms came late is misplaced since States could have proposed them
earlier but did not.
The Prime Minister’s Independence Day announcement before formal consultations
was unconventional but did not face opposition.
The GST Council cleared decisions on the first day of its meeting, showing strong
consensus among States.
The 56th Council meeting minutes will clarify each State’s stance.
Rate cuts span across nearly all sectors, with most reductions directed downward.
Only luxury items like high-end motorcycles and expensive apparel are set to cost
more.
The Council wisely resisted the temptation to expand the 40% tax slab.

. Together with income-tax cuts from Budget 2025, these GST reforms aim to revive

consumption when exports and private investment are struggling.

The government estimates revenue losses at 48,000 crore annually, though actual
figures may be higher.

The Council scrapped the idea of a compensation cess, despite opposition States’
concerns.

States will now rely on their own revenue sources and the 16th Finance Commission to
offset losses.

While GST 2.0 still has anomalies, removal of duty inversions, paperwork easing, and
possible revival of the Anti-Profiteering Authority will help ensure benefits reach
consumers.
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Practice Exercise: SSC Pattern Based

1. Which statement is best supported by the passage? \[Editorial Page]\
A. The GST rate cuts are intended as a counter-cyclical boost primarily via consumption, not
investment.

B. The Prime Minister can unilaterally change GST rates outside the Council framework.
C. The 48,000 crore revenue impact estimate is settled and accurate.
D. Most luxury goods are being shifted into the 40% bracket.
2. Fill the blanks to best preserve the author’s logic and tone:
“The editorial argues that introducing a compensation cess would have ___ the ongoing rate
rationalisation; ____, States must now look to their own revenue sources and the 16th
Finance Commission.”
A. reinforced; consequently
B. diluted; instead
C. accelerated; hence
D. legitimised; likewise
3. Why did the GST Council decide against imposing a compensation cess under GST 2.0,
according to the passage?
A. Because it would dilute rate rationalisation and simplification efforts
B. Because it would immediately raise exports and private investment
C. Because all States unanimously opposed any cess
D. Because the revenue impact was fixed at X48,000 crore a year
4. When are the newly approved GST rate cuts scheduled to take effect, as per the passage?
A. September 3
B. September 22
C. October 1
D. The day of the Union Budget announcement
5. Part of Speech (from the passage): In the sentence “The rate changes span nearly every
sector, and are, overwhelmingly, in the downward direction,” what is the part of speech of
the word “overwhelmingly”?
A. Adjective
B. Noun
C. Adverb
D. Preposition
6. The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any error,
mark ‘No error’ as your answer.
He has been / one the most revered member / of the committee of enquiry. / No error
A. He has been
B. one the most revered member
C. of the committee of enquiry
D. No error
7. Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.
A. There lived a foolish king in a large kingdom.
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10.

11.

12.

13.

B. He thought that it will be a good joke.

C. He did not realise that what he thought of as a joke would cost him heavily.

D. The king once decided to throw all his ministers in prison for a day.

A. ADBC

B. DABC

C. ABCD

D. ACBD

Select the most appropriate option that can substitute the underlined segment in the given
sentence.

Everyone disliked the new CEO, Kushal, but nobody is ready to put themselves in dangerous
situation by telling him their feelings

A. pull a long face

B. bell the cat

C. sit on the fence

D. rule the roost

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any error,
mark ‘No error’ as your answer.

Rahul asked me / whether | was interested / to joining the group for the trip. / No error

A. Rahul asked me

B. whether | was interested

C. to joining the group for the trip

D. No error

Select the option that can be used as a one-word substitute for the given group of words.
A person who deceives others by pretending to be someone else

A. Impostor

B. Fraud

C. Unrecognisable

D. Inaccessible

Select the best express Synonym of the given highlighted word.

The team built a makeshift shelter using bamboo and cloth.

A. Permanent

B. Durable

C. Temporary

D. Fixed

Select the best express Synonym of the given highlighted word.

There was a scramble for tickets when the concert was announced.

A. Calmness

B. Hustle

C. Ease

D. Leisure

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.
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14.

15.

16.

17.

18.

A. Sculpture and painting form an integral part of temple architecture.

B. The city is visited by thousands curious to see the temple in the form of a chariot.

C. The finest example of this is Konark Temple in Puri.

D. The chariot with immense wheels and horses is carved from stone

A. ACBD

B. ABCD

C. BCDA

D. BCAD

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any error,
mark ‘No error’ as your answer.

At the beginning of the nineteenth century, (A)/female literacy was extremely lowed (B)/ in
comparison to male literacy. (C)/ No error (D)

A. At the beginning of the nineteenth century, (A)

B. female literacy was extremely lowed (B)

C. in comparison to male literacy. (C)

D. No error (D)

Select the most appropriate Antonym of the highlighted word in the given sentence.

The child looked restless during the long ceremony.

A. Placid

B. Agitated

C. Fretful

D. Uneasy

Select the option that can be used as a one-word substitute for the underlined group of
words.

The workers received a sum for the services they rendered.

A. Remuneration

B. Remembrance

C. Rejuvenation

D. Recruitment

Select the most appropriate meaning of the given idiom.

Straight from the horse's mouth

A. Hearing something from a reliable and credible source

B. Hearing something coming from a horse's mouth

C. Hearing something that is untrue or a lie

D. Hearing something that is difficult to understand

Select the option that expresses the given sentence in reported speech.

““Why aren’t you wearing chappals?’ | ask one boy. ‘My mother did not bring them down from
the shelf,” he answered simply.”

A. | ask one boy why he is not wearing chappals. He answered simply that his mother had not
brought them down from the shelf.

B. | asked one boy why he wasn’t wearing chappals. He answered simply that his mother didn’t
bring them down from the shelf.
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19.

20.

21.

22.

C. | asked a boy why he didn’t wear chappals. He simply answered his mother hadn’t brought
them down from the shelf.

D. | ask one boy why he is not wearing chappals. He simply answered that his mother has not
brought them down from the shelf.

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any error,
mark ‘No error’ as your answer.

If | were you (A)/l would not go for (B)/ change of job. (C)/ No error (D)

A. If | were you (A)

B. I would not go for (B)

C. change of job. (C)

D. No error (D)

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. According to his hypothesis, now known as the neuron theory, each nerve cell
communicates with others through contiguity rather than continuity.

B. The watershed of all studies of the nervous system was an observation made in 1889 by
Spanish scientist Santiago Ramén y Cajal.

C. It has since been proved that Cajal’s theory is not universally true, but his central idea has
remained an accurate guiding principle for all further study.

D. That is, communication between adjacent but separate cells must take place across the
space and barriers separating them

A. CDAB

B. BADC

C. BCDA

D. ADCB

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

First of all, planting trees should be given (1) attention. Above all, tree is the (2)
of oxygen. Unfortunately, due to (3) of buildings many trees have

been cut down. This (4) reduces the amount of oxygen in the environment.

Growing (5) trees means (5) oxygen. Hence, growing more trees

would mean better life quality.

Select the most appropriate option to fill in blank number 1.
A. lesser

B. massive

C. trivial

D. minor

Select the most appropriate option to fill in blank number 2.
A. source

B. base

C. foundation

D. tank
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23. Select the most appropriate option to fill in blank number 3
A. planning
B. destruction
C. construction
D. renovation
24. Select the most appropriate option to fill in blank number 4.
A. certainly
B. doubtfully
C. rarely
D. hardly
25. Select the most appropriate option to fill in blank number 5.
A. no, more
B. more, more
C. less, more
D. more, less
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Answers
1. A 2.B 3.A 4B 5.C 6.B 7.A 8.B 9.C 10.A 11.C 12.B
13.A 14B 15.A 16.A 17A 18A 19.C 20.B 21.B 22A 23.C 24A
25.B [Practice Exercise]

Explanations

1. A) The passage says the rate cuts, along with income-tax cuts, should “boost consumption”
when “exports and private investment are sputtering,” implying the main short-run channel is
consumption.

Passagemg%aﬁ?ﬁ(&ﬂq-ﬁﬁ?ﬁq%ﬂ) WW@W%W%
St Frafafet Faw 4f g—sufa urufiie gyE IudT 9§ g

B: Council is a federal body; PM’s announcement was questioned but decisions were by the
Council.
C: The estimate “seems like an underestimation” and “only time will tel
D: Council “kept [40%] narrow”; very few items get costlier.

2. B) diluted; instead
“Diluted” mirrors the text’s claim that a cess would weaken rationalisation. “Instead” signals
contrast: no cess; therefore States must seek alternative revenues.
“Diluted” 3 HHSIR FIAT—AGH Tg! Hedl ¢ b T THAAGRU DI HHAAR

BT “Instead” TAALTHTT fezardn %’: cess :TE?[T‘?[ Tl B 3 Aial R AR Eﬁ:ﬂ
el

A: “Reinforced” is opposite of intended meaning; “consequently” implies direct continuation,
not contrast.
C: “Accelerated” contradicts weakening effect; “hence” gives causation, not the needed
contrast.
D: “Legitimised” changes meaning; “likewise” suggests similarity, not contrast.

3. A) Because it would dilute rate rationalisation and simplification efforts
The passage states that a compensation cess “would have diluted the rate rationalisation and
simplification efforts” and is therefore best avoided.
B: The passage links exports/private investment to growth headwinds, not as a reason to reject
a cess.
C: In fact, Opposition-governed States called for a cess; there was no unanimity against it.
D: X48,000 crore is the govt’s estimate of revenue impact from rate cuts, not the rationale for
rejecting a cess.

4. B) September 22
The passage explicitly says the cuts will kick in “on September 22.”
A: September 3 is when the Council authorised reforms, not the commencement date.
C: October 1 is not mentioned.
D: Budget day relates to the separate income-tax cuts, not the GST rate-cut start date.

5. C) Adverb
“Overwhelmingly” modifies the predicate (“are ... in the downward direction”), expressing
degree/manner—an adverbial role.
A: An adjective would modify a noun; “overwhelmingly” does not.

III
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B: It doesn’t function as a naming word.
D: It doesn’t relate two elements like a preposition would.
6. B) “one the most revered member”
Solution) 'one the most revered member" % m one of the most revered members' @TIT
Fifs TIAT 'one of the + superlative + plural noun Eﬁ?ﬁ %’I
e Use “one of the most revered members” (pattern: one of the + superlative + plural
noun).
Like— He has been one of the most revered members of the committee of enquiry.
7. A) ADBC
A starts the paragraph by introducing the subject ("a foolish king") and the setting ("in a large
kingdom").
D follows A because it introduces the action taken by the king ("decided to throw all his
ministers in prison for a day"). This logically follows the introduction of the king.
B comes after D as it explains the king's thought process behind his action ("He thought that it
will be a good joke"). This connects to the action described in D.
C concludes the paragraph by revealing the consequence of the king's foolishness ("He did not
realise that what he thought of as a joke would cost him heavily"). This provides a logical
ending to the sequence.
In Hindi
A paragrapha”ﬁ R[P3Td hXdl %aaﬂﬁ? g subject ("a foolish king") 3R setting ("in a
large kingdom")??blf introduce dXdl %I
, AD CIFRSIGI % FHif gg king% action ("decided to throw ministers in prison") A
T &, ST subject ¥ ST &l
B, D& TG 3Tl % i qg kingfﬁof thought process ("He thought it was a joke") Eal|
explain dXdl %,\_rﬁ action I vlsdl %I
C paragraph P! conclude BT %, Fifs gg consequence ("it cost him heavily") ddldl %,
S kingaﬁ foolishness I ﬁ"@ﬂ?ﬂ %I
8. B) Bell the cat — To take a risk or face danger for the sake of others. -dR] e ol
e Pull along face — To look sad or disappointed 3aI¥ Il R faam

e Sit on the fence — To remain neutral and not take sides in a dispute. ﬁ'ﬁq&‘f el /

forelt Ug b1 THAT 7 AT
¢ Rule the roost — To be in control or to dominate. U{cd STHIT / 3= o g
9. () “to joining the group for the trip.”
Solution) 'interested' & &1 'in + V-ing' <IITdl %,s?rﬁvm 'to joining'% LAY 'injoining'E?ITITI
e After “interested,” use “in + -ing”: interested in joining (not to joining).
Like— Rahul asked me whether | was interested in joining the group for the trip.
10. A) Impostor (noun) — A person who deceives others by pretending to be someone else. il
e Fraud (noun) — Wrongful or criminal deception intended to result in financial or
personal gain. ATt
e Unrecognisable (adjective) — Not able to be recognized or identified. HSTJI:I T 9 M
dlefl
¢ Inaccessible (adjective) — Unable to be reached or entered. S{UTE
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11. C) Makeshift (adjective) — temporary, provisional, improvised, stopgap, substitute SRYTY
Synonym: Temporary (adjective) — lasting for a limited time (GWTE?[)
e Permanent (adjective) — lasting forever (PJTC?[)
e Durable (adjective) — long-lasting (m)
e Fixed (adjective) — firmly set (@R)
12. B) Scramble (noun) — rush, hustle, struggle, hurryE'SE@.)[
Synonym: Hustle (noun) — Busy or hurried activity (?W;ﬂ / B@_E@){)

e Calmness (noun) — Peaceful state (QI'Il?'I)
e Ease (noun) — Lack of difficulty (ﬁﬁ?ﬂ)

e Leisure (noun) — Free time (3{dPIXY)

13.13.A) ACBD
A starts the sentence with the subject "Sculpture and painting," which tells us what forms an
integral part of temple architecture.
C follows A as it introduces the phrase "The finest example of this," referring back to the
temple architecture mentioned in A. This establishes a clear connection: Sculpture and
painting are part of temple architecture, and Konark Temple is the best example.
B comes next as it introduces "The city," referring to Puri (mentioned in C), and explains that
thousands visit it to see the chariot-shaped temple. This connects logically by specifying the
location and its significance.
D concludes the sentence by describing "The chariot," which was mentioned in B, and provides
details about its stone carvings, wheels, and horses. This completes the description of the
temple’s unique architecture.
In Hindi

A sentence &1 [>T pdl %,E@ﬁ; g subject "Sculpture and painting"ﬁ introduce
AT 8, S qd1dl § o dfeR aRgemar &1 HiF-a1 fgwr g
C, AP dlq ATl %,?Rhﬁ? gg phrase "The finest example of this" @1 introduce Bl %,\_rh
AH ddld U temple architecture I S Sdl %I saé Uh WY connection ddT[ %:
Hﬁw?ﬁwﬁﬁ?aﬂﬂwmmiﬁmﬁww qaY 3]
JalgrUl gl
B,C® G logically fit 81T &, TP TG "The city" (Puri, STIHT ¢ H forp g3m &
%troduceméeﬁvm%’ﬁ?msﬁﬂw$&wa@rﬁmﬁé@ﬁ&n%‘r

I
D sentence &1 complete hdl %,?Rﬂ% g "The chariot" (ﬁmw BH forsh g30) * dR
A IR O gaar g, o % g8 uR ¥ 9971 8, 39 URRU 3R OIS &1 399 HieR &
IRGH BT QT fAaR0T JAN BT 6

14. B) “was extremely lowed”
Linking verb 'was' & 9 adjective aT%'Q; 'lowed' (verb) TTcld %I ﬂ%bf: 'was extremely low'.
e With the linking verb “was,” use the adjective “low,” not the verb “lowed.”
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15.

16.

17.

18.

19.

20.

Like— At the beginning of the nineteenth century, female literacy was extremely low in
comparison to male literacy.

A) Restless (adjective) — Agitated, uneasy, unsettled, anxious, fidgety. e
Antonym: Placid (adjective) — Calm, peaceful, tranquil, serene, undisturbed. TMd
e Agitated (adjective) — Disturbed, upset, unsettled, flustered. Ul el
¢ Fretful (adjective) — Irritable, restless, touchy, petulant. ﬁl@ﬁl?ﬂ
¢ Uneasy (adjective) — Restless, apprehensive, unsettled, nervous. gyl
A) Remuneration (noun) — Money paid for work or a service Jdad
e Remembrance (noun) — The action of remembering something THU[
e Rejuvenation (noun) — The action or process of making someone feel or look younger,
fresher, or more lively
e Recruitment (noun) — The action of enlisting new people in the armed forces or hiring
for a position Hff
A) Straight from the horse's mouth (idiom) — Hearing something from a reliable and credible

source ([AYTT 3R THIOG T ¥ $& )

A) | ask one boy why he is not wearing chappals. He answered simply that his mother had not
brought them down from the shelf.

First clause: Direct “Why aren’t you wearing...?” | ask... = Indirect keeps present (no backshift
because ask is in the present):

| ask one boy why he is not wearing chappals.

(Wh-question = statement order; you - he; aren’t ... wearing - is not ... wearing.)

Second clause: he answered (past) + “My mother did not bring ...” = backshifts to past perfect:
He answered simply that his mother had not brought them down from the shelf.

Why the others are wrong

B: Changes ask - asked (past) and keeps didn’t bring (should be hadn’t brought after a past
reporting verb). Also question form “What you are doing?”-type error appears in spirit (here:
“why he wasn’t wearing” is fine, but the tense consistency is off overall).

C: “why he didn’t wear chappals” changes the meaning to habitual (simple past) instead of the
present continuous situation asked about.

D: Keeps present in the first clause (fine), but uses has not brought in the second; with
answered (past), it should be had not brought.

C) “change of job.”

'change' U countable singular noun %; W QB?[ article 'a' N 'a change of job'.

un, u
a

: “a change of job.”

e “Change” here is a countable singular noun; add the article
Like— If | were you, | would not go for a change of job.

B) BADC
B starts the paragraph by introducing the subject "Spanish scientist Santiago Ramén y Cajal”
and his observation, which sets the context for the discussion.
A follows B because it explains Cajal's hypothesis (the neuron theory), which is directly related
to his observation mentioned in B. The phrase "his hypothesis" refers back to Cajal,
maintaining grammatical continuity.
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21.

22.

23.

D comes after A as it provides further clarification on the concept introduced in A ("contiguity

rather than continuity"). The phrase "That is" signals an explanation, linking it logically to the

previous sentence.

C concludes the paragraph by discussing the validity of Cajal's theory in modern times,

contrasting it with the initial hypothesis while affirming its importance. The phrase "It has

since been proved" refers back to the theory mentioned in A, ensuring coherence.

In Hindi

B paragraph CH| R[23Td hdl % i g subject "Spanish scientist Santiago Ramon y

%ajal" 3R JTP observation B! introduce BT %’Gﬁ discussion ﬁ‘l‘! context set hdl
I

A, B® §IG 3Tdl %’ Fife g Cajal% hypothesis (neuron theory)ﬁ explain ddl %,\_rﬁ

BH IfcalRdd observation directly related %I "His hypothesis" aTRITRT Cajalﬁ refer

hdl %,ﬁ:m@r grammatical continuitya:ﬁ ?6?“ %I
D,A% diq AHTdl %’ Hifs g AH introduceﬁv"q U concept ("contiguity rather than
continuity") BT 3N TY HdT gl "That is" IR T explanation BT Tdbd Sl &, S

Eﬁ fUsd ag ¥ Iogically\_rﬁ—s_’?ﬂ %I

C paragraphﬁ conclude hXdl % i g Cajal% theoryﬁ modern times H validity
W Il Bl %’\_rﬁ initial hypothesis% Y contrast HIA gl W ITh Hed Gal|
reaffirm dXdl %I "It has since been proved" ATHRIIRT AT Ifcarad theory?ih;f refer hdl

%,ﬁ:m@r coherence S ?E_cﬁ %I
B) Massive' dI I EﬁTIT b "massive" BT 31 G\Idl % dgd dgl dl YR |1
ﬁﬁﬁﬂ%%%@ﬁﬁmmﬁwm,w'massive'qgfy
gl fthe S3dT §1 'Lesser' @1 31 § HH HedYU, Trivial' BT 3 € IS AT AWEH, 3R
'Minor' T 3 § Blel I1 HH Hgd &1, ol 39 JeH H Ifd T2 3|
e Massive' should be used because it means very large in amount or extent. The passage
states that planting trees should be prioritized, hence 'massive’ is fitting here. 'Lesser’

means less important, 'Trivial' means of little value or importance, and 'Minor' means
smaller in size or importance, which are not appropriate in this context.

A) 'Source' DI Iy fpar SITEIT b "source" BT 3 Eﬁ?ﬂ % ot tlnl\;l &I IdM
g1 ga| R § 9 T 7 e U SifRfioH & fou aeayuf €, safau gst
'source' T AR BT @?Lﬂ%jf faweg %I 'Base’ 3%? 'Foundation' &1 e E-FIT %
YR 1 H1d, 3R 'Tank' ®T 31 BT § <1, S 39 e & Iugad & B
e Source' should be used because it refers to the origin or starting point of something.
The passage discusses the importance of trees for oxygen, making 'source' the correct

choice as it signifies the origin of oxygen. 'Base' and 'Foundation' imply a support or
underlying part, and 'Tank' means a container, which are not suitable in this context

C) 'Construction' [ usefﬂTIT Hifes a1 § garr T % fo fofcd™ & aRUr ﬁ ag
G %Q M %I 'Construction' T 3 % ﬁTﬁ'UT,\_rh BRI context & fihe aB_cIT %I
'Planning' dI 3 % RINEI oI, 'Destruction’ DT 3ref % ﬁFﬂQT, G?R 'Renovation' BT 37
% '_-Fﬁ:ﬂw,?rﬁ BRI context & ﬂ?{ qﬁ %I
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e Construction' should be used because the sentence indicates that many trees have
been cut down due to buildings. 'Construction’ refers to the act of building, fitting well
in this context. 'Planning' means making plans, 'Destruction' means causing
destruction, and 'Renovation' means remodeling or updating, which do not align with
the given context.

24. A) 'Certainly' DT use?l"T[ Fifh "certainly" bl 3ref Eﬁ?ﬂ % fAf&a U Al sentence H
garar 7 § f SHARG! @ aoig A Hs US! B Hlel T g, oY ugiaror |
RIS B AR 'certainly' hH Epf STt %I Eﬂﬁﬂ{ ggl 'certainly'w PIEH %I a%“r,
'Doubtfully' ®T 31 § HIE W, '‘Rarely' BT 31 § gAY ¥ T, 3R 'Hardly' BT S
Hm @ S BRI context & ﬂgbf 7'|_6°[ %I

Certainly' should be used because it means "without a doubt." The sentence describes
how the cutting down of trees due to building construction has 'certainly' reduced the
amount of oxygen in the environment. Therefore, 'certainly' is the correct word here.
On the other hand, 'Doubtfully' means with doubt, '‘Rarely’ means not often, and
'Hardly' implies barely or scarcely, which don't fit in this context.

25. B) 'more, more' I Wmﬂﬁ%mm 'more' dI G{Qf% '\31%'\3%7 ﬁi’
'more' &1 3 B 31| 39 g ¥, 9ro0 Feal § & i U I 9 arareRor o
&lqﬂlwﬂﬁmaﬂ i1 ST, 3f¥® Us I 3if¥® et fHert|

The choice of 'more, more' for blank number 5 is correct because the first 'more’
signifies 'additional' and the second 'more' also signifies 'additional'. In this context, the
sentence is suggesting that growing more trees will result in an increase in the amount
of oxygen in the environment. Therefore, 'growing more trees' leads to 'more oxygen'.
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